CAT.No.1080-1

OVERFLOW RATE CUT-OFF VALVES

OFS-OFSY

HYDRAULIC

Hirose\Jalves



A EBX R EERF
OFSVYU—X

VARIABLE TYPE
OVERFLOW CUT-OFF VALVE

R

© EEEDHMYILR—ADYHEZEDSEHICKD 7 IF 1T —FDIHEET
ZERAICBHES AT,

® TIEREDOTAHRICIGUTCRENBIRTEX T,

O Y—IREICKDRIEEZPLT D, Fa—IfBBIRTEXT,

® JVIXT FTRELWPTLERET T,

® T VU AMREFBDREVCLE T,

This valve is the overflow rate cut-off valve preventing abrupt actuation of the actuator

due to accidents such as breakage of the pipes and cut off of the rubber hoses.

 EFIVFVINDER

OFSV - F 06 -200 - 11 (12)-CO8

SC3L nocode : Fa—UEL  no choke
C08 @ ¢0.8F3—IfIE  with $0.8 choke

EREtES  design number

BEIEERTRE  fixation cut-off flow rate

SCSEL  no code : RAFAEERE  adjusting max. flow rate
200 1 200L/min

U Size : 03.06.10.16

&AL coupling type

G: AR YNER gasket coupling type
F : 52V VH  flange coupling type
T : ALK taper thread coupling type

25 | IRREARERERR

name : OFSV : variable type overflow cut-off valve

’ JNIV 4% valve Specifications

EFLFUI BN RO ENEORNE | EEEOZT—VERC | BEEMAESE || SBERES
Model Number (5i%m VG-46, 40T) (TREIEA 14MPalcBVNT) | MBIFABR—NEDZEE | GEH VG-46, 40T) MAX. Working Pressure
OFSV=C03—##-11(~CO8) 0~80L/min 400c6 LUF/min 1.1MPa T
OFSV—TO03—#%—11 (—CO8)
OFSV—G06—##%—12 (~C08)
OFSV—F 06—##%—12 (—C08) 0~230L/min 600cc BUIT/min 0.5MPa T +3% SEMPa
OFSV—T 06—##%—12 (—C08)
OFSV-G10-##k—11(~CO8) 0~500L/min 700cc BUF/min 0.6MPa LT
OFSV—F 10—#*%—11 (—C08)
OFSV-G16—#—11(-CO8) | 0~1200L/min 100066 BT /min 0.5MPa bIF
OFSV—F 16—%#%—11(-C08) 0~1100L/min

MOEMAEEOREICDOEFELTIE, TEENFEALDERE JHEIT SV,

% SELECTED CUTOFF FLOW RATE DIFFERS.

’ {ER_EM;FE Notices before use

OEERORARE L EMAENELR (BE1E)

*BERORAREBLZIERICAEL TT IV, ThCEVBENLEMREZRELE T,

* Y — VR, BRI FEXRA EBUXBRARETRELY FTOT, BEMAEEIELVET,
FERVBARDISE [ ERE=BFRORAMREX1.5~2.5F
BHBRADBE | EMAE=@ERORAMEX2.0~3.015

QEMENFEMR ) RTERICHFERLEVTT L,

ORDHBICKYFREER L2V MIRICABRDNSKEZZy TIWVERWTEE £iEK L 1548, AREMAE &L V) ZEOEMAED AN AE L

BBEZENHNET,

OHEADRNENV D HEVEE, ROVFEBLEVWI EPFHNET,
OXBENEMEREL . APEIRICHEE TSI EERAL TT I,
OEE L /-RIEBR— h—AR— MRENET B E THBICERTEET,
ORIRERT— I THEMT 2720, FHLETSERERELA,

IN CASE OF MANUAL OPERATION SELECTOR VALVE

:CUTOFF FLOW RATE=MAX. FLOW RATE IN NORMAL OPERATION X 1.5~2.5 TIMES.

IN CASE OF ELECTROMAGNETIC OPERATION SELECTOR VALVE

:CUTOFF FLOW RATE=MAX. FLOW RATE IN NORMAL OPERATION X 2.0~3.0 TIMES.

In considering troubles, check on firm operation of the valve.

When a throttle valve is connected after the valve or piping is made with a nipple with extremely small inner diameter, actual cut-off frow rate becomes higher than the

nominal cutoff flow rate, or operation failure may occur.

When oil leak amount in accident is low (not reaching the set cut-off flow rate) , the valve may not operate.
After the valves operates, the valve can be returned by lowering pressure on the A port under the min. cutoff holding pressure or by frowing from B port to A port.
Complete cut-off after closing the valve is impossible, since the flow route is cut-off by spool.

1



10 A4 THREAD TYPE (FEU 03)

BAR—k
Elz=p X (UN|
F—2Z48

B PORT

FREE FLOW INLET
HOSE SIDE

Rc 3/4

ADJUST

BOLT
AFR—hk
wERN AL
TIF2T—54
A PORT

100

CONTROLLED FLOW INLET
ACTUATOR SIDE

Rc 3/4

BEERUEEAA
EW TR
ADJUST BOLT ROTATION DIRECTION
CUT-OFF FLOW RATE I'E';
]
s HD E_El |
INCREASE DECREASE g
B—+EA1-A
F—Z 18l L_‘j‘% TIF 2Tl
HOSE SIDE ACTUATOR SIDE
N =132
/EEI}:T: EB"?
SYMBOL
EFIF N
} Model No.
C ] [ ] OFSV—T03—s#*—11(—C08)
BAR—h AF—h ]
BEFNAD SR AT
H—2 4l T9F 2 T—4{l \
B PORT A PORT |
FREE FLOW INLET CONTROLLED FLOW INLET &3
HOSE SIDE ACTUATORSIDE =/
Rc 3/8 Rc 3/8 54 <2(
Elo 8
T w2
) (92}
=2
=
z |9 ‘
o EEE -
3 2,12 BHE . 1.4kg
] “ Mass
“ 0 ' U3
el THREAD TYPE (U 06
BEERLEEAR
SRR =
ADJUST BOLT ROTATION DIRECTION r:"}
CUT-OFF FLOW RATE g ]
1
1
510 B
INCREASE DECREASE B ’ i i A
1
A= ' % TIF1I—54
HOSE SIDE ACTUATOR SIDE

HMERS

SYMBOL

ARERF 166.5

IN ADJUSTING MAX.

122.5

58

(TN
J

8.5

31

Ce2

EFIVF N
Model No.

OFSV—T06—%*%—12 (—C08)

FRE =

HE .
Mass

3.8kg




arlon s GASKET TYPE (IFU 03, 06)

EESY)  $17.5
DS

AL CEEAR
SEEBT 7
ADJUST BOLT ROTATION DIRECTION
CUT-OFF FLOW RATE
sin L2y
INCREASE 4 DECREASE
FZNFN AlB|c|DI|DI|E|F|G|H|h |K|L|[M
Model No.
] «
OFSV—G03—3¢ 3% %—11 (—C08) 98 9 | 85 22 14 | 429 | 66.7 | 175 | 1465 | 11 333 | 7.1 | 31.8
{ Sl | x OFSV—GO6—3¢3%—12(—C08) |1225| 102 | 85 | 34 | 22 | 603 | 79.4 | 175 1665 | 11 | 39.7 | 11.1 | 445
|
Ta =S RARMERLN OULT | EE
= 2Ty of @ %Kn_:dl/sm:/\ N | Pt P2 R |S T U | X |HEXAGONSOCKET| O-RING | MASS
B SRIE A HEADBOLT | (JISB2401) | (kg)
B <—11(—C08) | 357 | 235 |11.65| 62 | 15 | 31 30 | 31 M10X45 1B P18 25
F P2 OFSV—G06—3% 3% 3% —12 (—C08) 492 | 28 113 77 15 36 35 37 M10X50 1B P28 3.8
K
8
=
HAEiaL X,
ADJUST \( a:
BOLT D B Lé: A
HIEARNAL A=zl | L] TF 215
TIFaT—24 HOSE SIDE - ACTUATOR SIDE
APORT
CONTROLLED FLOW INLET N .
] | ACTUATOR SIDE HERDS
fary /\ % % ) SYMBOL
N /’\ oo = ol a
@ X J) ‘_‘2 <2’) Y
/ w < "® (’7)
\ s|z g
2 -
) L
. _ i
& BF—h
BEfhAD
L u E i
4-ghiEL o B PORT
holes FREE FLOW INLET
BCY 4G HOSE SIDE
DS
y ME GASKET TYPE (HU 10)
Y i
AERLCEEARA
JEE T =a
ADJUST BOLT ROTATION DIRECTION = i
CUT-OFF FLOW RATE El '
I
i
INGAEASE DECREASE B i i A
—d R—Z{8 g TIF2IT—54
HOSE SIDE ACTUATOR SIDE
N E=l=]
. HMERS
SYMBOL
T
T P - N a =
46 2T ok 2 EFILF N RARMERVN | OV =2
SPETCEIN Model No. HEXAGON SOCKET | O-RING MASS
- HEAD BOLT (JIS B 2401) (kg)
9.8 1.1 OFSV—G10—3 % 3%—11 (—C08) M10X55 1B P32 7.5
48.4
18
W/RL
ADJUST
BOLT
AK—p
sEREh AL
TIFaI—54
APORT
CONTROLLED FLOW INLET
| ACTUATOR SIDE
oI 3
[ ol ol \
#2 2 Y d
ol Bl
=l sl Kiz ’
~| 0| 3L B S
_ldls 3
ol € 3 IR
~r Y < % .
sy z
o BH—h
2 B AL
F—24
B PORT
- FREE FLOW INLET
< HOSE SIDE




a8 A GASKET TYPE (IFU 16)

JH!

AL CEEAM
SR B £ A
ADJUST BOLT ROTATION DIRECTION ! L,g
F—Z {8 — 5
CUT-OFF FLOW RATE R—2Z4 13 TIF21I—454
HOSE SIDE ACTUATOR SIDE
IN EénASE DEC%I—VASE
N Eal=]
: : /EHEEB_’F
: H o Sy =
| | . EFLFUN NARNGEAMN QUL =2 SYMBOL
| ! { Model No HEXAGON SOCKET|  O-RING MASS
4}7 ) @ H : HEADBOLT | (JISB2401) | (kg)
i /} I OFSV—G16— 3 3% —11(—C08) M16X80 1B G55 22
| 6—¢183EL
o Holes
Ce EECY) 426 FE 50 2—-M10 B& 20
—>H<— D.C.B Depth Depth
L FAFINYFE—RR
ADJUST FOR EYEBOLT
BOLT A
AN AL
TIF2T—24
. A PORT 1T " 4
e CONTROLLED FLOW INLET
ACTUATOR SIDE
; -» ©
&y .
Pl > ol ©
H ES AR .
- ol
o - ®le Al &
: o[ 2 © O
- el 7|~ ®G
(=3 2
] 3
te) [=]
Y <
: @ ©
©
wn
S B PORT @
Y FREE FLOW INLET
C J HOSE SIDE |- CL | LJ
375 o
775 -
115 17.5
150
FLANGE TYPE (IFU 06, 10, 16)
L) ]
BELUEESR
R
ADJUST BOLT ROTATION DIRECTION
CUT-OFF FLOW RATE >
]
Jin E 2 '
INCREASE DECREASE B e i A
I ! 1 A2l LE!% ToF2 T4
L f/ \\ H HOSE SIDE ACTUATOR SIDE
© [
[ M n HES
{ ‘ | SYMBOL
=
"
ADJUST
BOLT
B~ A~
B AL Sl AD
F— THF2 T8
B PORT A PORT T
FREE FLOW INLET CONTROLLED FLOW INET ol %
HOSE SIDE — ] -ACTUATOR SiDE £z -
I 5 = A\ P
s ] ] = & _JJ olo
= g
] A | = T
L) : |
L L |
J E o L
<
F K F M
=yt RERMERIN | )5 mpy71s5 | OV 2
e A|B|C | DDl D2 E|F | G]|H/ H |J ] K]/ L/|M ueaonsockn BA’(;7K{JZ S0 ke | wmss
. HEAD BOLT (JIS B 2401) (kg)
OFSV—F06—3# 3¢ 3¢ 58 | 40 | 85 |20 |27.7 | 38 | 12 | 21 | 58 |1665|1225| 50 | 100 | 31 62 | M10X35 | SUN-4BG30| 1BG30 4.6
OFSV—F10—3# 3¢ 76 | 56 | 85 | 315 |432 | 56 | 16 | 27 | 775|213 |1605| 69 | 138 | 40 80 | M12X45 | SUN-4BG40| 1BG40 | 107
OFSV—F16— ¢3¢ —11 (—C08) 100 | 73 | 115 | 475 | 611 | 75 | 20 | 35 [107 [272 |2105| 79 | 158 | 525 | 105 | M16X60 | SUN-4BG6O| 1BGEO | 22




sEE1a UElnE & ERRi =514

RER CEES (B) 3RAFHEND S OEHEHERY . (BEE)

ML, FEE46mMmMY/SICH T B RRIFMTT . The following characteristic is a representative performance at viscosity 46mm?/s.

T TTTTTI
1.4 S CUT-OFF LlNEaﬁ% 0.8 [TTTTT
| [ srameens -
= 1.2 T JONSTNG AX. 0.7 SB[ 37 & CUT-OFF LINE Bk
—~ N ADJUSTING MAX
oo 1.0 © 0.6 2 X !
Se - 2 a3
@é 08 25/, Sg o5 K1
s 8 Wy o, 5 a z
=2 35T pal-S :
&80.6//)5*// P_a | L
gl
o
H 0.4 i & oo
0.2 = 0.1 ==
== o [a===r
0 20 40 60 80 100 50 100 150 200
& 2 Lmin & 2 L/min
FLOW RATE FLOW RATE
1.2 8
1.1 - PN '° } } } } [T
o 5 INADJUSTING MAX, 0.7 SEERTAIE CUT-OFF LINE
—_ Sof — ﬁ
gaq 09 PN & CUT-OFF LINE || Fao 06
S¢Q 08 5 S8 .- BZPE P
@ w 07 L @ i ER> INADLUSTING WA,
O e e = e a2 =3 04 st
Y9 05 : ga 9 ey
RE 04 RE ¥° /
M o3 M 02
8? 0.1
0 === 0 ==
100 200 300 400 500 500 1000
A 2 L/min A& £ L/min
FLOW RATE FLOW RATE
0.8
0.7
S 06 MEMF {7 B CUT-OFF LINE 1] s
CEL % o INADJUSTING MAX.
=5 05
oW 4
=5 04 S
s 3 9 8L +——1~ =
w -
_EI s 0.3 i
tH 0.2
0.1
== [ 1]
0 500 1000
& 2 L/min
FLOW RATE



ol i £ ) =1 A0 0 &8 OVERFLOW CUT-OFF VALVE

BAREEMFAE. EEEDEKIY® I LR—ADYHEEDERICLD VU VT DRFIFE T ZRAICEHS
TERTI,

REDZZM - EFEELICCFIATEL.

iR

® FEEZERNyY NTEKI 2B, RELFORNENEEAESD T A
© /\RHMEEIRDFRNICHESNIEWMEEDR. BRI ZLET.
® JV)\T MFERETTY,

 EFILFVINDIEH
OFS-T03-35-12 T

—[ POFATI-HABTRLIAT r T‘
specification of A port screw (actuator fittiing side) |
SEERL  POFII—SEIHTRUYAT B = A
no code : Rc (internal thread) T : R (external thread) H—24 T7F2I-24
HOSE SIDE ACTUATOR SIDE
SRETES  design number . -
HEES
SEMTIRERS  cut off flow rate 35 : 35L/min SYMBOL
FFYF Size : 02.03.04
RUERH  taper threaded cupling type
BATREERTFR name : OFS : overflow rate cutoff valve
2363 02 | 03 | 04
REfEREN 25MPa
{EENE1%K 1000EIUA
BAENHE (L/min) 25 | 50 | 85
ERT RS R A +10% (GRE&HVG—46. H;230~607T)
JBE [T B D FE 77 B% NME 0.35~0.45MPa 0.75~0.95MPa 0.6~0.8MPa
EEREX S (L/min) 10-15-20-25 25-30-35-40-45-50 | 20-25-30:-35:50:70-85
FEHLEDEE - EMAENORTICOETE LTI, AIEHBRAEEMAERLOEE (P1) 2 ZHEAT IV,
Before you use, you must read ‘Notices before use’ (P1).
» A W
 RUEHER THREAD TYPE (IFU° 02, 03, 04)
OFS—Txx—xx—12T OFS—Txx—xx—12
D1 - F D2 F
. c AR— E . c AR—R
gd;’OII;(T A PORT E’EOET /iPORT
al \ \ OFS-T03-35-12T / sanan ﬁ G sz 1T Vameoa (D)
e @a Hiose vaves A f | | | controLLeD [\ \&F) Bt 1 @B Hirose Vaves A - || CONTROLLED  f\'\&L/
INLET - ) FLOW INLET INLET ) FLOW INLET
EFNF 2N 2 EFNF LN 2
Model No. C D1 E F G1 G2 M(g?s Model No. C D2 E E G1 M(g?s
OFS—T02—%%—12T | 65 | 85.5| 24 | 27 | Rcl1/4 R1/4 290 OFS—T02— % %—12 65 70 24 27 Rc1/4 270
OFS—T03—3%3%—12T | 65 | 86.5| 24 | 27 | Rc3/8 R3/8 285 OFS—T03—3%%—12 65 85 | 24 27 | Rc3/8 300
OFS—T04—3%3%—12T | 84 [112 30 | 32 | Rel1/2 R1/2 700 OFS—T04—3%3%—12 84 109 30 32 Rc1/2 720




| BREHBAZERE AR IC DOV TDER

SAFETY PRECAUTIONS |

ZDAHEAT DEEERFFICEIIRIHE 3 b BB DOBIRHFA
EEBTALY) BICKRLEE —(CEATHREMIR-o TS,
(@ ZDH2ATRUNEBFTEHLVELRLTDHEEMEL L

FthAo)

ERBHCAGEHERTP-DICATBEESSVUEERENRT S

ICRAY B EMBEE DL TF o TS,

Before you use the product, you MUST read the instruc-
tion manual and MUST fully understand how to use the
product.

To use the product safely, you MUST carefully read all
Warnings and Cautions in this manual. You MUST al-
so observe the related regulations and rules regarding
safety.

A FERLEDEE

/\ Cautions in use

Z2E SEERENUT TI@ERESL,
[NEE —BhREsBE I EREA,
ZDOAHZEOATDETFIVF NG —HEEmR(E
s HEANBAERLET,
ZOMDEBNME I ERSN B A 1d St

THEVEDHELZIV,
TEBD AN TS (BB INAST 24RLLA)
(R TLERLY,

/NIEE e8I Rs B EEE 15 ~400m° T I A<
7220,

/NEE FEhihihB i —15~80C T A
3y,
LERESEN CIHEAINABA Y
FTHRVAhEER,

HFOMIFIRIAUIEEET LIS

TREOEEEY) BEBE. I DN

BIEL 7 ERRBL TN, $72 AR

EROEND (0] ETHBIEbRIBL T

&,

EEH. FIHREER G ECSVERICEY

FTOT FREPBLLOLISEBL S

A,

PUHEDBNDBNET

[NER BERICLSROBER ABIHILEV TS
IR

/NER RREWEL S BEAMBHBELELEN TN,

EOSNIMEEERIB TS T B EHRD

BERICEVET,

>
I
i3

Nt
v
Gl

&.

/\WARNING Use the valve at maximum working pressure or below.
/\CAUTION Use general mineral oil series hydraulic oil. The valve
model No. described in this catalogue is subject to use
of general mineral series hydraulic oil.

Contact us for use of other different hydraulic oil.

Keep hydraulic oil clean (cleanliness: NAS Grade 12 or
below).

This valve shall be used in the range of an oil tempera-

ture between minus 15 and 80°C and of viscosity be-

/\CAUTION

tween 15 and 400mm?/s. In case of using the valve be-
yond this range, consult with us.
Contact us for the use at temperature beyond the
above temperature range.
Using the valve out of conditions instructed above could
result in mechanical and/or physical damage, leading to
a serious accident.

e Warnings and Cautions related to installation and removal of

the product

&WARNING Make it sure that the power of the hydraulic power unit
is turned off and that the electric motor or engine has
completely stopped before starting installation or re-
moval. You must also check the system pressure has
dropped to zero.

@ Warnings and Cautions for operation

ACAUTION Keep your body off the product during the operations as
it may become hot and burn your body.

o Cautions related to maintenance

/\CAUTION Never modify the VALVES.

/\CAUTION Do not disassemble and assemble.lt may cause trou-
bles and failure, or it may not work as specified.

KEAHEZOT EEMPDEETIERICLY ., FELELBETEINZZEFHYET,
HEOTRELEBRICCAT.NO.ZEEH L THY T, HREIBTEDEICIE. KRR

@ EHFSAVTLEH/RRXEH

At - Ti5 TH22-0082 W ERERM R BB 2&E 345 TEL 0749(23)2020(f) FAX 0749(23)2027&

ThdrLUHFE TIRBLEV,

i~

v

RERE PR

*¢Materials and specifications are subject to change without
manufacture's obligation.

TEL 0749 (23) 5450%

RREXM T105-0012 RREFERXZSAFI2-4-1 IZUMIE)L TEL 03(3437)0011(%) FAX 03(3437)0013%&

UKAS AIRELF 7530-0052 AIRFILKARET/—20 FILE)LEEE TEL 06(6312)2412() FAX 06 (6316) 1236%
MARAGEMENT U R L http:/www . hirose-valves.co.jp
001 E-mail info@hirose-valves.co.jp

Hirose Valve Industry Co., Ltd.

Head Office & Plant: 34, 2-Ban, Yasukiyo-cho, Hikone, Shiga-ken, Japan Phone : Hikone 0749-23-2020~5 Fax:0749-23-2027
Tokyo Office : Izumi Bldg., 1-4-2 Chome, Shiba-daimon, Minato-ku, Tokyo Phone:Tokyo 03-3437-0011~2 Fax:03-3437-0013
Osaka Office : Shin Hozan Bldg., 20-7 Minami Ohgimachi, Kita-ku, Osaka Phone:Osaka 06-6312-2412~3 Fax:06-6316-1236

1004B



